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Dividing with a Numberline
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Dividing with a Numberline Name: Answer Key
Use the numberline to solve each problem. Thefirst ismarked for you. Answers
1) 0 1 2 3 4 2
2 4 4 4 4 4 1 8
/2| | | | | | | | |
1 3 S z 6
8 8 8 8 2 14
2
2) 0 1 2 El 4 5 6 7 o /s
6 77— 7 77— 1 7 :
/2 ——+——+— ¥+ ] .
1 3 5 7 9 1 13
14 14 14 14 14 14 14 4. 12
3
3) 0 1 2 3 4 5 5. 718
/53 [+ ] b 3
1 3 5 7 9 1 13 15 6. _ 716
15 15 15 15 15 15 15 15
2
7. 12
4) 0 1 2 3 4 S 6
6 —6 66— 66— 6 6 2
Y2 > Y s 7w
1 3 S e S 11
12 12 12 12 12 12 3
9. /14
5) 9 1 2 3 4 S 6
3 6 6 6 6 6 6 6
/63 ——+——f+—+—F+—+F+—+—+—F—+—+—F—+—+—
i 3 5 7 9 1 13 15 17
18 18 18 18 18 18 18 18 18
6) 9o 1 2 3 4
Jpd Y+ Y+ ]
1 3 5 7 9 1 13 15
16 16 16 16 16 16 16 16
7) 9 1 2 3
T e e — ;
/34 —— Y+ Y —
1 3 S A S 11
12 12 12 12 12 12
8) 90 1 2 3 4 S 6 A
2 W 7 7 7 7 7
/75 e e
1 3 5 7 9 11 13 15 17 19 21 23 25 27 29 31 33 5
3 35 35 35 35 35 35 35 35 35 35 35 35 35 35 35 35 35
9) 90 1 2 3 4 S 6 A
3 T~ 7 7 7 7
/2 ——
1 3 5 7 9 1 13
14 14 14 14 14 14 14
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